

Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA

Tel. 574-848-1126 Fax 574-848-1127

www.renegaderv.com

PO#: Customer Name:

VIN #: 3ALAGED18KSKR7707

Job #: K01-3315 REV:6

Customer Order

Dealer: Westside Motorcoach

Salesman: ?Y``m'8]``

Phone: (815)) &-!&*(+

Fax:

I gYX⁻&\$&%

Date Written:

Date Processed:

Description	Color	UOM	Qty	Price	Amount
Chassis					
Freightliner Cascadia 125, 560HP DD16, DT12, Single Axle, Disc Brakes, Detroit Assurance Pkg. Freshly Serviced		EA		\$1, , ,++*	\$1, , ,++*
US Domiciled		EA		\$0	\$0
	•	•		Sub Total	\$1, , ,++*
Renegade Conversion					
38' Mid Bath Mid Entry Motorhome 38CSB-XM (Ceramic Coated!)	T	I	1	\$229,872	\$229,872
240" C/A		!	!	1	
				Sub Total	\$229,872
Exterior					
Larger Bunk Area	T	I EA	Τ	\$1,610	\$1,610
60 X 95	1		1	4.,5.5	4.,0.0
Electric Trailer Brake Controller w/ Digital Display		EA		\$0	\$0
20 Mil TempCoat Walls, Ceiling & Floor		LF	28	\$140	\$3,920
Underbody LED Lights - Color changing w/controller		EA		\$1,330	\$1,330
Full 7'6" Interior Height (90")		EA		\$0	\$0
Renegade Universal Adjustable Hitch		EA		\$0	\$0
Spray foam insulation in the walls and ceiling including the slideouts		LF	28	\$154	\$4,312
110V Recept - 15A		EA		\$126	\$126
C/S Front storage box	•	•			
Undercoating		EA		\$0	\$0
Docking Lights - LED		EA		\$0	\$0
Full Width Mudflap w/SS Renegade Logo		EA		\$0	\$0
Side Swing Baggage Doors w/strut assist - Bright Stainless		EA		\$693	\$693
Trimark Handle Keyless Entry - Side Door		EA		\$0	\$0
Tempcoat Waste Tank Box		EA		\$735	\$735
12V LED Scene Light		EA	3	\$322	\$966
1 c/s 1 Rear 1 R/S					
4-Point Auto Leveling System w/App Control		EA		\$0	\$0
Power Locking Baggage Doors - where applicable		EA		\$0	\$0
Optional deluxe light layout with six extra lights & center brake light		EA		\$1,680	\$1,680
Cab Cutout 27"x27"		EA		\$700	\$700
Stainless Steel on the Bunk Exterior				\$350	\$350



Renegade Motorhomes Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA

Dealer:

Salesman:

Westside Motorcoach

Customer Order

Tel. 574-848-1126 Fax 574-848-1127

Phone:

www.renegaderv.com

Fax:

PO#:

Customer Name:

Job #: K01-3315 REV:6

Date Written:

Date Processed:

VIN #: 3ALAGED18KSKR7707

Description	Color	UOM	Qty	Price	Amount
Mid ship Turn Signals				\$105	\$105
Chrome Cargo Box Handles				\$420	\$420
Extra 110v Recept in the Shore Cord Box				\$126	\$126
One Storage Box to be 66" Long with 2 Doors				\$490	\$490
				Sub Total	\$17,563
Warranty					
One Year Limited Conversion Warranty (Included)		EA		\$0	\$0
				Sub Total	\$0
Slideouts					
12' Slideout Room		EA		\$0	\$0
Bed Slideout		EA		\$0	\$0
Windows on sides of Bed Slideout		EA		\$0	\$0
Wardrobe Slideout - C/S		EA		\$0	\$0
				Sub Total	\$0
Awnings					
Slide Toppers	White w/ Black Fabric	EA		\$0	\$0
CareFree Lateral Arm w/Lighted Lead Rail - 18' or less	White w/ Black Fabric	EA		\$0	\$0
				Sub Total	\$0
Windows					
Bonded Thermopane Windows		EA		\$0	\$0
Skylight over Shower		EA		\$413	\$413
Manual Day & Night Window Shades		EA		\$0	\$0
Bunk Window with Valance and Shade in the Bunk R/S				\$371	\$371
36x24 Window in the Rear Wall				\$735	\$735
				Sub Total	\$1,519
Interiors					
Cab Privacy Curtain- rail type		EA		\$315	\$315
Standard Hardware & Fixture Finish- Brushed Nickel	Nickel	EA		\$0	\$0
"Soft Touch" Padded Vinyl Ceiling (White)	White	EA		\$0	\$0
Decor Package	Titanium	EA		\$0	\$0
Bedding	Titanium	EA		\$0	\$0



Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA

Tel. 574-848-1126 Fax 574-848-1127

www.renegaderv.com

PO#: Customer Name:

Job #: K01-3315 REV:6 Date Written:
VIN #: 3ALAGED18KSKR7707 Date Processed:

Customer Order

Dealer: Westside Motorcoach

Salesman:

Phone: Fax:

Description	Color	UOM	Qty	Price	Amount
Infinity Ceiling Light		EA		\$700	\$700
Full Length Mirror on Living Area Wall		EA		\$210	\$210
Pull Out Pantry		EA		\$0	\$0
Ceiling Fan	White Base White Blades	EA	2	\$210	\$420
Livingroom and Bedroom					
Add'l. 110V Recept		EA		\$105	\$105
In the Kitchen					
Wood Valances - no decor tops		EA		\$0	\$0
Multiplex Control System w/App Control		EA		\$4,193	\$4,193
110v/USB & Shelf in Bunkover		EA		\$175	\$175
R/S					
Entry Way all Wood No Padded Walls in This Area				\$490	\$490
Extra Coat Hooks on Entry Way Wall				\$105	\$105
Match Slideout Ceiling to the Padded Walls	Quicksilver			\$280	\$280
Padded Walls	Quicksilver		28	\$84	\$2,352
Beadboard Wainscoting	Burnished Sable			\$490	\$490
				Sub Total	\$9,835
Furniture					
Bunk Mat	Tan	EA		\$0	\$0
Heated Captain's Chairs	Pelt	EA		\$0	\$0
Ultraleather Seat Fabric Package	Pelt	EA		\$0	\$0
Small King Bed 66 x 80 Memory Foam Mattress		EA		\$0	\$0
Dream Dinette Feature		EA		\$0	\$0
Hide-a-Bed/Dinette Ensemble	Pelt	EA		\$0	\$0
Ottoman w/ Storage	Pelt		2	\$420	\$840
				Sub Total	\$840
Cabinets					
Cabinet color Upgrade	Burnished Sable	EA		\$1,575	\$1,575
Epic Slab Style Cabinet Doors	Burnished Sable	EA		\$833	\$833
Dove Tailed Drawers		EA		\$0	\$0
Mesh Screen ILO Glass in A/V Cabinets		EA		\$0	\$0
Add Drawers to Bathroom Vanity		EA		\$420	\$420

02-04-2021 Page 3 of 6



Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA

Tel. 574-848-1126 Fax 574-848-1127

www.renegaderv.com

PO#: Customer Name:

Job #: K01-3315 REV:6 Date Written:
VIN #: 3ALAGED18KSKR7707 Date Processed:

Customer Order

Westside Motorcoach

Dealer:

Phone: Fax:

Salesman:

Description	Color	UOM	Qty	Price	Amount
Stacked Silverware Drawer		EA		\$0	\$0
Large Item Drawer, Under Cooktop		EA		\$210	\$210
Small Item Drawer, Under Cooktop		EA		\$210	\$210
Maple Cabinets	Burnished Sable	EA		\$0	\$0
Cabinet in the Bunk - C/S	Burnished Sable			\$770	\$770
Linen Cabinet				\$392	\$392
				Sub Total	\$4,410
Flooring					
Polished Porcelin Tile (per lineal foot)(Includes Stepwell)	Breccia Silver	LF	28	\$210	\$5,880
Floor - Heated (Per Lineal ft.)		LF	28	\$175	\$4,900
Tile - Floor Grout	Silver	EA		\$0	\$0
Carpet - Slidebox	Rock Garden	EA		\$0	\$0
Tiled Wainscoting in the Bathroom	Breccia Silver			\$490	\$490
				Sub Total	\$11,270
Countertops					
Polished Solid Surface Countertops	Ocean View	EA		\$0	\$0
Tile - Backsplash Grout	Silver	EA		\$0	\$0
Tile Backsplash in Kitchen	Bayview Octagon	EA		\$0	\$0
Color Changing LED's in Countertop Edges & Toekicks		EA		\$1,673	\$1,673
				Sub Total	\$1,673
Appliances					
2 Burner Induction Cook Top		EA		\$833	\$833
Washer & Dryer Stack		EA		\$2,170	\$2,170
1.5 cu ft SS Convection Microwave	SS	EA		\$0	\$0
Samsung 18 cu ft Residential French Door Refer w/lce	SS	EA		\$0	\$0
Outside Refrigerator / Freezer Prep		EA		\$0	\$0
Dyson Cordless Vacuum				\$651	\$651
				Sub Total	\$3,654
Water Systems					
Toilet- Macerator-Bone Color (Electric Flush)		EA		\$0	\$0
150 Gallon Fresh Water Tank		EA		\$0	\$0
Single Lever Kitchen Faucet w/ Retractable Sprayer	Brushed Nickel	EA		\$0	\$0
				•	



Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA

Tel. 574-848-1126 Fax 574-848-1127

www.renegaderv.com

Job #: K01-3315 REV:6

PO#:

VIN #: 3ALAGED18KSKR7707

Customer Order

Dealer:

Westside Motorcoach

Salesman:

Phone:

Fax:

Customer Name:

Date Written:

Date Processed:

Waste Tank Flush	Description	Color	UOM	Qty	Price	Amount
Single Bowl Stainless Steel Kitchen Sink w/ Cover	Waste Tank Flush		EA		\$0	\$0
Fig. Jet Sewage Macerator System	Outside Spigot (by holding tanks)		EA		\$0	\$0
Mater Management Bay	Single Bowl Stainless Steel Kitchen Sink w/ Cover		EA		\$0	\$0
2) 75 Gallon Holding Tanks	Flo-Jet Sewage Macerator System		EA		\$833	\$833
2) Holding Tank Heat Strips per Tank	Water Management Bay		EA		\$0	\$0
Spray Away EA	(2) 75 Gallon Holding Tanks		EA		\$0	\$0
Solid Surface Bath sink ILO Stainless	(2) Holding Tank Heat Strips per Tank		EA		\$0	\$0
Water Pump - Variable Flow EA \$0 \$0 Whole House Water Filter EA \$0 \$0 Solid Surface Shower w/Accent Ocean View EA \$5,040 \$5,040 Bayview Octagon Accent(Opt. 2) Silver Grout Total \$553 \$553 Sub Total \$6,832 Mechanical Systems Sub Total \$6,832 Mechanical Systems Solution of Sub Winterior Remote Switch(Freshly Serviced) EA \$0 \$0 A/C (2) 15,000 BTU Ducted Roof Mount (1 each living & bedroom) EA \$0 \$0 Batteries BD AGM - each EA \$1,050 \$1,050 3 Total MaxAir Deluxe Vent ILO Std. EA \$0 \$0 Power Retractable Shore Cord Reel w/36' Cord EA \$0 \$0 (2) Power Vents EA \$0 \$0 Surge protected transfer switch EA \$0 \$0 Magnum 3000W Hybrid Inverter EA \$1,820 \$1,820	Spray Away		EA		\$154	\$154
Whole House Water Filter EA \$0 \$0 Solid Surface Shower w/Accent Ocean View EA \$5,040 \$5,040 Bayview Octagon Accent(Opt. 2) Silver Grout Power Fresh Water Hose Reel EA \$553 \$553 Sub Total \$6,832 Mechanical Systems generator 8kWOnan Quiet Diesel w/Interior Remote Switch(Freshly Serviced EA \$0 \$0 A/C (2) 15,000 BTU Ducted Roof Mount (1 each living & bedroom) EA \$0 \$0 A/C (2) 15,000 BTU Ducted Roof Mount (1 each living & bedroom) EA \$1,050 \$1,050 3 Total MaxAir Deluxe Vent ILO Std. EA \$1,050 \$210 Power Retractable Shore Cord Reel w/36' Cord EA \$0 \$0 (2) Power Vents EA \$0 \$0 Surge protected transfer switch EA \$0 \$0 Magnum 3000W Hybrid Inverter EA \$0 \$0 Solar Panel System - (3) 175W Panels EA \$15,260 \$15,260 600 Series Aq	Solid Surface Bath sink ILO Stainless	Ocean View	EA		\$252	\$252
Solid Surface Shower w/Accent Ocean View EA \$5,040 \$5,040 Bayview Octagon Accent(Opt. 2) Silver Grout Power Fresh Water Hose Reel EA \$553 \$553 Sub Total \$6,832 Mechanical Systems generator 8kWOnan Quiet Diesel w/Interior Remote Switch(Freshly Serviced EA \$0 \$0 A/C (2) 15,000 BTU Ducted Roof Mount (1 each living & bedroom) EA \$0 \$0 Batteries 8D AGM - each EA \$1,050 \$1,050 James In James	Water Pump - Variable Flow		EA		\$0	\$0
Power Fresh Water Hose Reel	Whole House Water Filter		EA		\$0	\$0
Power Fresh Water Hose Reel	Solid Surface Shower w/Accent	Ocean View	EA		\$5,040	\$5,040
Sub Total \$6,832 Mechanical Systems generator 8kWOnan Quiet Diesel w/Interior Remote Switch(Freshly Serviced EA \$0 \$0 A/C (2) 15,000 BTU Ducted Roof Mount (1 each living & bedroom) EA \$0 \$0 Batteries 8D AGM - each EA \$1,050 \$1,050 3 Total EA 2 \$105 \$210 Power Retractable Shore Cord Reel w/36' Cord EA \$0 \$0 (2) Power Vents EA \$0 \$0 Surge protected transfer switch EA \$0 \$0 Magnum 3000W Hybrid Inverter EA \$0 \$0 Solar Panel System - (3) 175W Panels EA \$1,882 \$1,882 600 Series Aqua Hot (Freshly Serviced) \$15,260 \$15,260 \$15,260 Electronics Sub Total \$8 \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	Bayview Octagon Accent(Opt. 2) Silver Grout					
Mechanical Systems generator 8kWOnan Quiet Diesel w/Interior Remote Switch(Freshly Serviced EA \$0 \$0 A/C (2) 15,000 BTU Ducted Roof Mount (1 each living & bedroom) EA \$0 \$0 Batteries 8D AGM - each EA \$1,050 \$1,050 3 Total WaxAir Deluxe Vent ILO Std. EA 2 \$105 \$210 Power Retractable Shore Cord Reel w/36' Cord EA \$0 \$0 (2) Power Vents EA \$0 \$0 Surge protected transfer switch EA \$0 \$0 Magnum 3000W Hybrid Inverter EA \$0 \$0 Solar Panel System - (3) 175W Panels EA \$1,882 \$1,882 600 Series Aqua Hot (Freshly Serviced) \$15,260 \$15,260 Electronics Sub Total \$18,402 Electronics EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	Power Fresh Water Hose Reel		EA		\$553	\$553
generator 8kWOnan Quiet Diesel w/Interior Remote Switch(Freshly Serviced EA \$0 \$0 A/C (2) 15,000 BTU Ducted Roof Mount (1 each living & bedroom) EA \$0 \$0 Batteries 8D AGM - each EA \$1,050 \$1,050 3 Total MaxAir Deluxe Vent ILO Std. EA 2 \$105 \$210 Power Retractable Shore Cord Reel w/36' Cord EA \$0 \$0 (2) Power Vents EA \$0 \$0 Surge protected transfer switch EA \$0 \$0 Magnum 3000W Hybrid Inverter EA \$0 \$0 Solar Panel System - (3) 175W Panels EA \$1,882 \$1,882 600 Series Aqua Hot (Freshly Serviced) \$15,260 \$15,260 \$15,260 Electronics Blu-ray Player in Bedroom EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0		-			Sub Total	\$6,832
A/C (2) 15,000 BTU Ducted Roof Mount (1 each living & bedroom) EA	Mechanical Systems					
Batteries 8D AGM - each EA \$1,050 \$1,050 3 Total MaxAir Deluxe Vent ILO Std. EA 2 \$105 \$210 Power Retractable Shore Cord Reel w/36' Cord EA \$0 \$0 (2) Power Vents EA \$0 \$0 Surge protected transfer switch EA \$0 \$0 Magnum 3000W Hybrid Inverter EA \$0 \$0 Solar Panel System - (3) 175W Panels EA \$1,882 \$1,882 600 Series Aqua Hot (Freshly Serviced) \$15,260 \$15,260 \$15,260 Electronics Sub Total \$18,402 \$0 \$0 Electronics Blu-ray Player in Bedroom EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	generator 8kWOnan Quiet Diesel w/Interior Remote Switch(Freshly Serviced	t	EA		\$0	\$0
3 Total MaxAir Deluxe Vent ILO Std. EA 2 \$105 \$210 Power Retractable Shore Cord Reel w/36' Cord EA \$0 \$0 (2) Power Vents EA \$0 \$0 Surge protected transfer switch EA \$0 \$0 Magnum 3000W Hybrid Inverter EA \$0 \$0 Solar Panel System - (3) 175W Panels EA \$1,882 \$1,882 600 Series Aqua Hot (Freshly Serviced) \$15,260 \$15,260 \$15,260 Electronics Sub Total \$18,402 \$18,402 Electronics EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	A/C (2) 15,000 BTU Ducted Roof Mount (1 each living & bedroom)		EA		\$0	\$0
MaxAir Deluxe Vent ILO Std. EA 2 \$105 \$210 Power Retractable Shore Cord Reel w/36' Cord EA \$0 \$0 (2) Power Vents EA \$0 \$0 Surge protected transfer switch EA \$0 \$0 Magnum 3000W Hybrid Inverter EA \$0 \$0 Solar Panel System - (3) 175W Panels EA \$1,882 \$1,882 600 Series Aqua Hot (Freshly Serviced) \$15,260 \$15,260 \$15,260 Electronics Sub Total \$18,402 Electronics EA \$0 \$0 Blu-ray Player in Bedroom EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	Batteries 8D AGM - each		EA		\$1,050	\$1,050
Power Retractable Shore Cord Reel w/36' Cord EA \$0 \$0 (2) Power Vents EA \$0 \$0 Surge protected transfer switch EA \$0 \$0 Magnum 3000W Hybrid Inverter EA \$0 \$0 Solar Panel System - (3) 175W Panels EA \$1,882 \$1,882 600 Series Aqua Hot (Freshly Serviced) \$15,260 \$15,260 \$15,260 Electronics Sub Total \$18,402 Electronics EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	3 Total					
(2) Power Vents EA \$0 \$0 Surge protected transfer switch EA \$0 \$0 Magnum 3000W Hybrid Inverter EA \$0 \$0 Solar Panel System - (3) 175W Panels EA \$1,882 \$1,882 600 Series Aqua Hot (Freshly Serviced) \$15,260 \$15,260 \$15,260 Sub Total \$18,402 Electronics Blu-ray Player in Bedroom EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	MaxAir Deluxe Vent ILO Std.		EA	2	\$105	\$210
Surge protected transfer switch EA \$0 \$0 Magnum 3000W Hybrid Inverter EA \$0 \$0 Solar Panel System - (3) 175W Panels EA \$1,882 \$1,882 600 Series Aqua Hot (Freshly Serviced) \$15,260 \$15,260 \$15,260 Electronics Blu-ray Player in Bedroom EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	Power Retractable Shore Cord Reel w/36' Cord		EA		\$0	\$0
Magnum 3000W Hybrid Inverter EA \$0 \$0 Solar Panel System - (3) 175W Panels EA \$1,882 \$1,882 600 Series Aqua Hot (Freshly Serviced) \$15,260 \$15,260 \$18,402 Electronics Blu-ray Player in Bedroom EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	(2) Power Vents		EA		\$0	\$0
Solar Panel System - (3) 175W Panels EA \$1,882 \$1,882 600 Series Aqua Hot (Freshly Serviced) \$15,260 \$15,260 Sub Total \$18,402 Electronics Blu-ray Player in Bedroom EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	Surge protected transfer switch		EA		\$0	\$0
600 Series Aqua Hot (Freshly Serviced) \$15,260 \$15,260 \$15,260 \$18,402 \$18,	Magnum 3000W Hybrid Inverter		EA		\$0	\$0
Electronics EA \$0 \$0 Blu-ray Player in Bedroom EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	Solar Panel System - (3) 175W Panels		EA		\$1,882	\$1,882
Electronics Blu-ray Player in Bedroom EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	600 Series Aqua Hot (Freshly Serviced)				\$15,260	\$15,260
Blu-ray Player in Bedroom EA \$0 \$0 Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0					Sub Total	\$18,402
Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep EA \$3,493 \$3,493 Side Bullet Cameras EA \$0 \$0	Electronics					
Side Bullet Cameras EA \$0 \$0	Blu-ray Player in Bedroom		EA		\$0	\$0
	Winegard HD Satellite Travler model# SK-SWM3 w/DirectTV Receiver Prep		EA		\$3,493	\$3,493
Through monitor	Side Bullet Cameras		EA		\$0	\$0
	Through monitor					



Dealer: Westside Motorcoach

Salesman:

Customer Order

Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA

Tel. 574-848-1126 Fax 574-848-1127 Phone:

www.renegaderv.com Fax:

PO#: Customer Name:

Job #: K01-3315 REV:6 Date Written:
VIN #: 3ALAGED18KSKR7707 Date Processed:

Description	Color	UOM	Qty	Price	Amount
Blu Ray Player - Front		EA		\$0	\$0
Winegard Mission RT4035T In-Motion Satellite Dish- Receivers not Included		EA		\$0	\$0
Samsung Soundbar w/Bluetooth & Wireless Subwoofer		EA		\$0	\$0
Outside Entertainment Center: Samsung 43" 4K HDTV w/Soundbar		EA		\$2,653	\$2,653
43" 4K HDTV ILO 32" Standard		EA	2	\$693	\$1,386
Livingroom and Bedroom				-	
Garmin Infotainment Center w/RV Maps		EA		\$0	\$0
Winegard Connect 2.0 WiFi, 4G/LTE Range Extender & OTA antenna, Power amp.		EA		\$0	\$0
Swing Arm for Livingroom Tv				\$175	\$175
Backup Camera & Monitor w/trailer plug		Ì		\$413	\$413
				Sub Total	\$8,120

Order Notes:

NOTE: Due to continued improvement & changes in suppliers, design & production: equipment, colors, material specifications, prices & model availablity

Chassis: are subject to change without notice. Changes made to confirmed orders are

subject to a change order fee of up to \$1500.

Options:

Rev: 04/2/2012Paint:\$0Please Sign Here To Confirm Order:Freight:\$0

Discount:

Total \$) \$&,+**

\$1, , ,++*

\$229,872

\$84,118

ALL ORDERS MUST BE ACCOMPANIED BY A FLOORPLAN









































































































































































